
Multiplication par 0,01 (C)Trouvez chaque produit.
20 × 0,01 = 79 × 0,01 =
1 × 0,01 = 50 × 0,01 =
6 × 0,01 = 64 × 0,01 =
73 × 0,01 = 77 × 0,01 =
100 × 0,01 = 9 × 0,01 =
61 × 0,01 = 57 × 0,01 =
29 × 0,01 = 21 × 0,01 =
51 × 0,01 = 14 × 0,01 =
32 × 0,01 = 10 × 0,01 =
50 × 0,01 = 37 × 0,01 =
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Multiplication par 0,01 (C) SolutionsTrouvez chaque produit.
20 × 0,01 = 0,2 79 × 0,01 = 0,79
1 × 0,01 = 0,01 50 × 0,01 = 0,5
6 × 0,01 = 0,06 64 × 0,01 = 0,64
73 × 0,01 = 0,73 77 × 0,01 = 0,77
100 × 0,01 = 1 9 × 0,01 = 0,09
61 × 0,01 = 0,61 57 × 0,01 = 0,57
29 × 0,01 = 0,29 21 × 0,01 = 0,21
51 × 0,01 = 0,51 14 × 0,01 = 0,14
32 × 0,01 = 0,32 10 × 0,01 = 0,1
50 × 0,01 = 0,5 37 × 0,01 = 0,37
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